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307 glztol & 1,400,000 1,262,000 138,000
= 500,000
Al 900,000
04 QIZtHAALE 2 = 1,400,000 1,262,000 138,000
ORM90z =& H 1,400,000
ANAWE SA=M(ZEA) 1,400,000
= 500,000




SN B
¥y X9 SN =4
el g (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| A 500, 000
HH =H XA 645,115 554,030 91,085
D2 k==Xl 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
OHMI323 D=z 2A=H 15,000
tHiehes =2 =H 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
04 DI2HHALALSE E X 20,000 20,000 0
OHM9zl Htels =2 =Ml 20,000
tiehs 2= 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
04 QIZFHALAIH E = 15,000 15,000 0
OXxl262l dieh=s Z2ER 15,000
Sate 2EH 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B & 10,000 10,000 0
OXM25a =stat EER 10,000
Xels &S 10,000 10,000 0
307 gl2tol & 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
ORMI433 Xlelat SZH 10,000
S&A 469,150 309, 150 160,000
201 LB-2E| 74,150 74,150 0
01 At 2t 2l 59,150 59,150 0
OHM28sl E2HAEARS oA
70,0003 x23F «53| 8,050
OHM28sl S2H SAX SAH (MESH)
8,000& x1,000& 8,000
OHMe28sl E2H ZAH, 2IE HE 6,000
OXx28sl E2M MIH#E FLS + 3,000
OHM28sl E2H EE(SIFAEBTEME) 34,100
03 & Ar2 I 15,000 15,000 0
Os® Us &H 15,000
307 gl2tol & 330,000 220,000 110,000
02 SIZtA M AHE L 30,000 20,000 10,000
OHM22sl 8= ¥ ZAHU3 20,000
OHM283sl S H HILEFU 3,000
OHMegsl €2 M d83cl2l tHal 4,000




2N

X{ XH -
S =

el

SA - ZE-B(EA) - NRAY - B S il &t o il RS2
OHNZ28sl s2H s=2 328 3,000
04 QIZFHALAIH B = 300,000 200,000 100,000
Ox28sl £2H 300,000
401 Al& I & 28I 65,000 15,000 50,000
01 A& HI 65,000 15,000 50,000
OER U= ZH JIBAESM(EI, =5) 15,000
OHM28sl S2H fFUHEXN &4 50,000
SHogt =4 2 X 105,965 103,880 2,085
101 @124l 2,085 0 2,085
04 D12t 22 HEE =+ 2,085 0 2,085
OFER =¥ M=z £ &8X XY A2(BES
ors) 130,260 x2 x4H x23 2,085
201 2et2d]| 82,880 82,880 0
01 At 2teltl 2,880 2,880 0
OXAEHSLAS BB
70,0003 7Y %23 980
O=HE At - 1,900
03 A2 Z Hl 80,000 80,000 0
g2 2zl =M 80,000
202 oddl 1,000 1,000 0
01 SLHOYI 1,000 1,000 0
OLAZ=FH EIt & NeZ= 1,000
401 AIEHIZ 28I 20,000 20,000 0
01 A& Hl 20,000 20,000 0
OEd atdel =M JIBAIESAH(ED], =5) 20,000
HY2FZH () 55,900 55,300 600
Jl=23 4l 55,900 55,300 600
Jl23Hl 55,900 55,300 600
201 €82l 25,700 26,700 21,000
01 At 22/l 24,200 25,200 21,000
Oger==EH| 19,400
O= &l 4,800
02 =24l 1,500 1,500 0
O332g ¥ WAl 1,500
202 o4dl 26,000 25,000 1,000
01 = LH o4 1l 26,000 25,000 1,000
OZZ ARFE Kl 21,000
O=2&H &2 ¥ Z2AY F& 220l 5,000
203 R =&l 4,200 3,600 600
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